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PRACTICE EXAMPLES

BASIC QUESTIONS TYPE

Q.1 Acam.do.a uork im 20 dagl, B cam Ao 1he Lame AOrk im 10

> daga. so im how mamy dags cam A

Bastce -
Let the awerk 18 %
Wank dene by A i 20 bog* i
ik dame. DA 7 3 pay 42
iath dlome by B n L0 Dags 43 «

Nmk,dmb*dﬁ i 4 Doy 48 2 10

and B do it together?

TRICK ck
T ,{,ﬁx_u.m

p1) "‘1
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Q2 A can do the work im 42 daga. A and B Ltogether can
complele the samme work im 14 dago them im how mmamy

Saldayamswnplwrhemmmoak?
. A-41‘d~°’d4 i Ho - TW
A+B- 14 }. = 5.
B's tme = .'l'-;:"—j %) Dmd&.

Q.3 A man, a woman and a child can complete the work im
s days while the worman alome can complete the aarme
ALork im 12 dagre and a chidd can complete the work im 20

alome?
sod: Mam + Woman T CAUL -5 12
W.emomn — 12 g o
chidd - 20
' ol - 12 - 65*3)
H.a-ms-e./H _ "M'Jd A
M ams Jme :-%Eﬂ = 315 '

Q. 4 x.and Yy can together do a uork im 12 daga, Y .and z im 1s
days and, z and x im 20 days then im how mamy dagys
will x, Y. and z.do i Logelthenr?

sol:

X&YW~ 12 anab S

7 + % - 20 D~

EH&'cLemcld &t-)(, Y &
| = +3
K4y * YT AT AX = SH

9 (X+Y+Z) =12
x+y+z =12 = ¢
2

3
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Q.5 swrnita and anita working alome can do a piece of Lork
in 8 and 12.days respectively. | sunita, anida and ravila
do it togethenr cam do it im 4 dags them im Ahow mamyy dagys
will ravida do it alome?

sol: 24 naye

Q. 6 Nteah and pawan cam .do ajob Logethenr im 18 . dagrs, Pauan
and surmit cam do it together im 27 dags, swmid .and Ndeah
cam do the sarme work im 36 .days themn im Aow mamryy dags
Ll swrrdt fimiah i i he works alome?

sod: 216 daya

Q.7 A.and B.can together do a uork im 30 days, 8.and c.do the
bsamme job im 36 dagye while c.and Ado i im 45 .daga, 20 im
how mamny days can A alome, B .alome and ¢ alome do i&
Leparately?

sol: 72 dagyo . 51%@9& . 120 days

ALTERNATE DAY TYPE:

Q.8 A camn do a plece at work im 20 dags. B can do Lhe came
4ok im 25 dage. f they work alternatively and A alarta the
fAmiohed?

sod:

zzdcuif& Q9

Remadming wrov = 100-99 =1

. ivne =L 2
Nexk oy doork woill be A”“ﬂ‘b*di"&_ mi 7 ;.dé
T otal fltme,-‘—'zz'oqwﬂ&'k“f 0‘64-—2_2500-"-7
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Q9 A B.and c can do a piece of work im 15, 20 and 30 days
sreopectinvely. A starts the work and work Ll the wwork

finiohes while B + c helpa A in alternate dagye teahm im

> A-15 oy
: . — Total werk
B"‘ 20 AH&}GO LUer
C - 30 A
is+vd wrevk demne _i;.lj A vand B - 443 =73
?_hd cud

,(]_a.uﬂ werk dene deA,anLC = AL =S
Q_A,a;d«s Lok - 13

le ' \I/XL'

52

8 s

Remainin Lo = o -52=8
Next doy wrerk deme L-.d AandB = 3xL=3

Re_'rnql'rpf_'}f\ woerk=8-7=1
Next AaJd Emrk uclmne_,bﬁ Avand ¢ = '%' ¢
—’—D,[—a,LTi:me_::g‘fi‘*‘—z—
= 9+ A
Q.10 A can do a plece of work im 20,21{#1, B can do the came
Fob im 25 daye. | they work alternatively and B.atarts the

sol: 22% DAYS

Q. 1l A Band ccam.do.awork im 12, 1s.and 20 daygps respectin
A atarts the work amd work till the end while aamj%(:

/szz,c.w A.:wz/ty.dag mfw.wmamydaémxwﬂ Lhe wonrk be

1
sod: 75 DAYS
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WORK LEFT BEFORE AND AFTER:

Q. 12 A can do a work im 15 dayps while B .cam do the same wuork
Am 2s daya. T@WWW@WWW sdaga
Ale#mm.a.om}wwmwdaga B dnishes the

B- 25 »ola-:di

|_s days ﬂ,xﬂ

A+B=8%5 | g5_1y -dﬁldé
= 40 g&mf“ =13 " 0

Q.13 A cam do a piece of inAs dags, Boan do same wwork

An 40 daya. TWWWMMWMWM
Lme A Lleft the work. Y the Lolal work ia finiohed im 32
WWMWMMWWMAMQW#Q&P
A HSM&§—3GD-TM Jusevk _
daﬂ B «ded the wvevk %«n o hole time
Se work deme b:d R =32x9=98%
Rematning wsevk = 360 - 288 =72
A's Tidme = EF__?:_ -9 DaJdé‘
3
Q. 14A cam do a jok 20 days and B cam do it im 24 days, ccam
do & im 30 daya. | they atart the work together but A
the wonrk swwmmqmﬂmcwmmﬂ

the ALLOSK
s e el ol o B o

sol: Bas:
el A- Qodg’d&%mﬂw

B- 24
c— 30

e g7

Ex\5=135 l 190 - Gs+3o)
= 15
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# TRIck:
Tatal wsevk
~ Cepf Cotemey o pevson wohe loft x Thme caftex hous ﬁgwh@@

+ (%u'e_nbd bf pevsen awhs Lt X Time be)ave %&uﬁm mt)
(Tetat W) + (Sum of efficiency of beopls usho word)

120
- 30 = 5 X6

+ 2y = ( xM 9 .da”g-
N = 1y = 1273
Q.ISAMMEWIHBW&, B cam do the came im 16

and ¢ .cam do it im 24 days. they atart the wuonk
mawgmwmmmcaﬂ

: £
saol A3 =
Y38
B-16y
c-2Y4 43
4 oy = 2LX2
+ 03 = 3x1
55 55 = § 2
E+34+L = T

Mma}tuhowmmydaga BMWM#W

Q. 17 X LM Lo Q MoRk im 30 daga, Y cam do the same work in 40
dagto, zm.df)l‘/‘tz.a.amm 20 dago. | x&#mmapﬁu 4
qu@ z left the wuonrk Idaybz{oﬂethemzdaa{
AULONK. mmmmwwmmxwﬁzmm?

2
sol: 12“9'DAYS
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RATIO BASED QUESTION:
Q. 18 Ralio of efficiemcy of Aamd Bia s : 7. Y A camn do .a woirk
An 21 daga them im haw mmamy dayas will B fimish the wonrk

ol o hTRICK
"‘4‘-"—‘ A'B -
A. B Lcen®.5 3 Al hen dotal dusove
P ‘:’_:5 u..ba'me_
Aa-.?,ﬁ_bm:m A =5% ’b' “ 3 :tl'lt.héﬁ-wm‘z?‘\‘
fjocine] of B =1% oy
Tolal averk = 5% xe)=109% y 3 isda(j&
Bs bime = Toblusok - losx -|5
-aﬁ.ﬂ-t_ciﬂlud ’r"(

Q. 19 The workimg capacity of A Lo so% smore tham B. i A cam
a asork im 2 daga them im how amamy days cam

B camplete thia wonrk alome?
15& to©

g &H—Lue.hta
1! 3 - kme
X6 RE

Q. 21 The ratio of efficiency of Aamd Bis 3: 4. Time Lokem by B
ia 9 .days them im how muuch Lime will A camplete the total
LULONK

sal: 12 DAYS
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MDH BASED QUESTIONS:

Q. 22 1n these Lype of guestioms, we companre things udlth other,
ROLML, bomelhimg ia miboimg amd we have Lo find that.

ol
" Formula
= My Dy Hy X Bbher _ M,y Do Hy X Blher
"Mi. W 2
) Man /\weman [ child [ beysom.
D- 'Do.td5
H - HauvA

Q. 23 IGM*L%&Ma work im 1o days them howt

mamnyy perboms are requured Lo commplete this wuork im 40
sats MiDyHy = My DyHa
Wy Wa.
l6xlo = AXUO
i i 8
')Lf-'—l'Daud&’
Q. 24 20 men do 3s5 of the work in 450daémm‘zmhawmmmg
75 dayo?
SOl 9orMS0 = wx3s - Tobol qruantily o4 4
3/5 (1= %50 WYk 48 4 L M“ﬁ
20x 450 X5 = ARXRASRS
3 2
80'me_-n:_')(

Q. 25 280 wosmemn cam commplele 3,2 Uork im 80 daya them how
mamyt womem are reguired to commplete 7,2 sork im 40
dagro?

sol: 240 WOMEN
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Q. childrem cam commplete 2 workas im 4oda4,.w,uw/vtimga
zsffaimadamdag. so0 40 children cam do | auork im Aous mmany

dags, if they work 4 houra per dayr

saol: 20 DAYS

OR - AND TYPE QUESTIONS:
Q. 28

Y 4. mem or s wamen cam camplete a uork im 43 days

them im howt smamy dagsd 3 omen anmd 7 iuommem L£am

commplete id?
sol: Blﬂ&ff_"l

ﬂ»f— b men wsevk then wsevk = L{mXHBﬁ

4} 5 wsemen L0ovk then wo =5uxis
" @ = 4" ©
Hm XY = S500XU3

M =5 &% 4mz500

™y fm =5 w fw=dm
4y S

Lek veontider eov“@ Asntal wsovk
hem
Time falen by 3men wand. T LsdTenN
= Ymalisd =Ymxu3 ‘[j-“’:f’_"“
2+ 3M +=|><§—m
C hmx43 = Y xUS%S
Tsmram M3
T 5 = 2o Vdﬂﬁg
Basie-2,

ym=500(Ttis f’md In Ba&‘c:iﬂl)

Jm = _5_'E|?_?...
Letls wcondider: dptap wwovc 4™ (O

WB@L‘:»—L then |

10

#TRICK/BEST METHOD

Ym=560
™m W
59
W‘d Lﬁ?_ﬂfwm-
B X Y3 =3mALRK
Y x5 xU3 (355 +IRDXR
X = 20 D

CAg “ T or" velalid daln
S5wxU3 (3mt+Foo JAN.
5%xHr43 (3X5 +AxWOR

W = 206 \d.ﬂldﬁw
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TQmeJL&h lnd 2 wien vvnd F Woemen = 500 X U3
3M +Foo

— 500 X43
3Ix S w tF00
Yy

= gepoX w3 = 920 ud.ﬂﬂ&.

W3e%/a
Formada wethod - |
Hm/_ﬁ?, .,d_a,-d;_;'(g
Shp-t—{’#oo x s -(®

Lek's 'm"‘ﬂ:*fhd eq" ® wall datr and udivlﬂ.o_b'j Aum
24 vevess mmalaiblies 6 mumber .
= hxSA43 = Yxr5RAY3 :iowtmd,s
9.8+ 15 ys

Q.29 Y 4 /memn Oor 6 oamem O am&dft.emmmdoa}abim 39
daya them im how mamy days cam | amam and | wosmam

amd 1 ehild commplete it?
Uwm = boo = 3C
™ e 1 O
6 X8 ' UX8 @ HUxé
E*MI3 Hwm x 39 (Lm +Le +1)RK
UxEx39 (€+4Y +3) X%
Q_L!xB‘l’-':.LBxx_ ::}Q_,d_mdg:)(_.

Q.30 3./mem oA 5.iuomen can complete 3,47 part of the job in
a0 daya them im how rmamy dagys s memn and 7 wommen
cam commplete the whole suwonrk?

9
sol: 17;5 DAYS

sod:

11
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Q.31 3.memn.or 6 women or 12 chiddremn cam camplete 4/7% part

a,zm,mmwmg 4 howre a day im 30 dayga. Them im Aow
many dags can 2 men and s wammen and 2 children
mmm&&zz#pwn{mefobmmg 3 houra a day?

sol: 12 DAYS

MORE TIME TAKEN TYPE QUESTIONS:

Q. 32sabman alone takes 4 mmore dagys than taken by salman
and W.togzﬂ:m,ammwamﬁ, rRuAld alomne
Lakes o snonre days thamn taken by salman and ruahid
Logether. what ia the time taken by salman and raohid
WW&WMP

saod:

_Bagic: #TRICK-
Let's veonarder tiwe faken | Madtd the mexe ne. ;:g,;;xvi-
bﬁd Aa.lmaﬂvamiﬂmﬁu‘d.i&'*( bath vand underyy

Apt . e L xdei the. tiwne Adker
demw-K+E£§fQ) by beth.

Rushid - % +9— (%+4) F Jaxa = & vdoys

(K +2) (LD - Talal work

Tome Aoken L;J Aalwon and Rughd

L"L"'q) (K+H) = K
A+ + Ry

NCHAR T UR T3C = K
2% 4 13

2
.)CL_‘_‘%)L FBRL=TR +(3%
Q_KL-— '}& ::3‘
')(:'L = 36

x_—.éw!_aﬂs.

12
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Q. 33A Lakea 36 smore days tham Lakem by A .and B logether, B
ZLakes 64 mosre daya tham taken by A and B logelther, what

Ao the timne takem by A alome im doimg the commplete uwrk?

sad: 84 DAYS

Q. 34 x takes 16 more daya tham takem by x .and Y IOW
Y Lakes 25 smosre dayo tham tokem by x.and Y Logethenr. w.

Lo the Linme Lakem by YWMMWW&MM
sal: 45 DAYS

13
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TIME & DISTANCE

BW"Wmmi&vammWMTmmm 8
how fer Dbjects on points ane

Jime 1~ Time takem o over ponticulan istance
wensidewd time Oven hure -

Spud - The wate ab which sorene o/ semething Moves.

A —

2 VUotal distane = Speed x Irme

Sheed = distamce
Jdime.

Time = distanee

Speed.-

=7 SNV eksion of distance -

AN AN

{Km =lo Hectametes
{Hectamelen =10 Decameten
| Duometen = 40 meten

A Muv = 1o dedmeten-

A didmawti = 1o Cemtimeten -
1 (cmtimeten = 1o milinteter

14
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“*‘Dim?ng Solving  Buusstien , we Meed +o shamge umit
Iem[hs = 550 msec.
) sec 12/, km]hx
lemjmin 50/, M/Aec
™Mb = 3/ kym [ min

— Av
gt Shad = lotal digtance
-_-_-_-‘-_'_'_'—‘-—-——_.
Toted time.

When, Sheeds ane km [ vy kRm)n
then Avenage Shue = “ﬂ/
Xty

Whan Aporels o A KM )y 'Yykm/h, Z Rm/n

e
Avenoge Speed = 31yz
m{j /H‘}H'Z‘F'Z'Ka

whon Apewdt ane KMlh, Y pkmyy,, ¢ kmfp, D km)4h

thon

xh

AvUIou Speed = YABO
ABc+ ARD+BCATACD

_anhem Wistanes is wendtond

P s Speed . —
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